TEMA: APUOMETNHECKAA
[MPOIPECCIUA

[lnaH ypoka:
1. Opr. MOMEHT
2. AHanusmpyem gomallHee 3agaHue
3. OTO Mbl 3HaeEM
4. Nlogymaem BmecCTe
5. NpumeHdaem dopmyrnbl
6.Coenamn cam
7. lomallHee 3agaHue: NOBTOPUTL
doopmynel, Ne 429 (r), Ne 445 (a,0), N2 467




AHAJIMSNPYEM OOMALUHEE
SAOAHWE
Ne 450 (a)
a;=14 d=7 an=7/n 7n<100 n<14,2
n=14
Sia - 7 =( 14+7%13)*7-7=7*104=728
OTBEeT: $14=728



Ne 451(0)
an=12n+5 12n+5>100 12n>95 n>/,9
n=38
12n+5<1000 12n<995 n<82,9 n=82
a3,=82*12+5=989
Haxoanm Konm4ecTBO YUCES, AeNnALnxcsa Ha

N B OCTATKe Y KOTOPbIX 5

989=101+12(n-1) 989=101+12n-12 n=75
S75=(202+12*74)*37,5=545*75=40875
OTBeT: S$75=40875




910 Mbl 3HAEM

ApudmMmeTmnyeckasa nporpeccud

dopmyna n-ro YneHa apudpmMmeTrn4eCcKou
nporpeccun

CymMma N 4neHoB apudoMeTn4ecKkoun
Nporpeccun



NOAYMAEM BMECTE

»AHann3npyem nocriegoBaTefibHOCTb:
9TO apudmeTnyeckas
nocrnenoBaTeNibHOCTbL?
2:4:6; 8....

na
-7;-5;-3.....
na
/:12;17; 27 ....
HET
1: Vo Va: Va6, ...
HeT



*YT0 MOXHO HaNTK 3HaNA:
e-1:-0,9;-0,8.....
*an=-7/3n-1
*an=0,5n-4

wa=12 as=40 d-?
d=7
eai=-1 az0=86 Szo-?

S30=1275




[NTPUMEHAEM ©OPMYIJIbl

Ne445 (B)
ar = (as + as):2 4=(as + as):2
Ne 444
{a4=a1+3d {10=a1+3d
a0 = a; + 9d 19=a; + 9d
a;=5,5 9=6d d=1,5

S1w0=(5,5+19)*5=122,5

As+as=8



COEJNAU CAM




[lpoBepbL cebs

dn N Sn
20 13
380 | 40
26 | 11
8/ | 18
21 7/




